w4 HTBTELEENG

Table 4 Dimensions of terminal and copper bus
R WIPIRINERSE

L—h ozt o WIBTE RS
Frame Type Dimensions of terminals Cop&er bus
1R we st AR et
mm mm
16.50F
M8X16 16.5 or less
L
BW125JAGU @ % 09
1554 BW125RAGU % // RE
EW125JAGU E -
EW125RAGU | g N\
i 8
17 = 24 =
t=6
3, MBx16 2o
el 777 77/M% o8
250A | BW250RAGU Jian) / @} g‘—" 1 AL
EW250JAGU W é \>4% q
EW250RAGU 4 2 % z
25.5 g 24
- t=6

* x0.0394=inch

| 3P3E
a8 WAMRE P
Line side AHT A FTHA A
R Telacire 1esi switch
1 5 RIESH

ANEREERT
“Oworcunen ipping device

2 L /J—HE?.-!‘,?-'. 48
B “Furfh Jsakagotripping dovice
Load side T

AR

4, €Dt EEIR

@ RERMSICBLTHRDRBENNESIOMEE
SR, BEOANTADBRAvF R LD LIRE
TADCEDNTEE T ARBREBAATANIBRAvF
ERLTLIZE D,

@ AATANDERAvFDRMEE, UV TRE%BL
TU—hFEEE Ry TREICULTIE 2T IZEW,

® EXBEBOF—RIFFE, A THL TS0,

@ FREEM S, BICI1OBETRRIZBLT, #itF
HRETHOTILIEL,

® FOVIY—N-EDESEEGATIHEE. FBH5
I EBNTEAIEN.

® IBHN—RLE, NEROBREOHBEL TS
Lo

o IEREMNIBHEE, NBROBRFBPEE JBL
rrEl

4. OTHER CAUTIONS

® Measurement of insulation resistance between phases
and the dielectric strength test can be performed by
pressing and turning the Dielectric test switch. Return
the Dielectric test switch after the test is completed.

@ Before operating the Dielectric test switch, press the
trip button to trip the breaker.

@ Ground the ground terminals of electrical devices.

@ Press the test button of Earth leakage circuit breaker
at least once a month to perform an operation check.

® Do not use transceivers from earth leakage circuit
breaker within one meter. Otherwise, the breaker may
malfunction.

@ Detach the accessory cover screw only when you
install accessories,

@ Refer to accessory instruction manual for their installation.

RS
Dielectric lesls
BEREAR

4. HEXAREN

® TEIEAROIM ERIRAAIE T OV T, D AR SeB RTiges st
iz EEEN ) ST v e
MBLERG, HIEMERESE R

© IR NRANIRAN, WIS AA B T RIS, B TR
Eiegailent YU

® BN EZHVE IR T BB .

® N TFIRBUTISES, BIR/A —ROVRERMNTNSIZATRIA
1.

©® TE{FMITLBIRENENDTLLBIREN, BERFT AN
S KUIMER .

@ XTHZ o817 EHBROMNIPEIMIEINTIRT, 151R
TR ENBT T IR Fo

® ZHEMEGRE, ELRMIERZEEHRIR AR

BT RARBREkNSH

T103-0011 ERBPREAXBRIEHAISETS
(ZHERBT ATHETENL)

TEL (03)5847 - 8060

FAX (03)5847 - 8182

URL http://www fujielectric.co.jp/fcs/

Fuji Electric FA Components &
Systems Co,, Ltd.

Mitsui Sumitomo Bank Ningyo-cho Bldg., 5-7, Nihonbashi
Odemma-cho, Chuo-ku, Tokyo 103-0011, Japan

Phone :+81-3-5847-8060

Fax 1 +81-3-5847-8182

URL http://www.fujielectric.co.jp/fcs/eng/

B aREktsd

AXERRBPHRE BAEFAEDAIS BT S
SH{ERRITARA Bldg.

%% 103-0011

HiE +81- 3- 5847- 8060

fE#®  +81- 3- 5847- 8182

URL http:/fwww.fujielectric.co.jp/fcs/

} INB-F50880873d-JEC
EXRaREAE / INSTRUCTION MANUAL / R {EGE iR BE B

125~250A7L—L X@ER
Frames 125A to 250A Front Mounting type
125~250A #ER RERK

BIA—-~JU—h - EXREBEMZ
FUI AUTO BREAKER - FUJ| EARTH LEAKAGE CIRCUIT BREAKER
ETERHRHSE - ELTREERESR

| RS tOTER |

Rt BRIE, BIESIURT  KRET O8I0, RERPE, [RFERT Y2

Pl pLeR<EHmADLE, ELLTEALIEZE L,
FICRERPFCESNRROEABEEDOTICELLD. CERRVLE T,
[RFERTYZ 270 TR, BERCITERILZS O,

® TR REIBEFAOLANNE[BSIBLO CERIELTEALTHYE Y,

: Eﬂu&ut. RS RBESEBBENDBIBBIRAERL

o

EBLBVE, BESICBPEREOEEEZBSYNIBHBRWR
L BEUMNBENRET IS YNNI BBBEETRLET.

B8, CERSNEBETE, RRCL->TREABBRICBO O
THMH DY T, WTNEEEENSEERL TVFTOTUTFO TS,
AN i

=
© Witl, WAL, RBIFR SR - SlE, BT OB BT T TRE L,
BESLUEBICLINBOEITh BN ET,

O 2HFORKBBICRRHCSHEZ LB LEWVT LSV,
BELGOREEMSIBELEEA,

pp—

—e |
| a1
_I_ — it N& — i
AREHH AN
ELCB
Py
ANFER

@ FMEFIC, BB EMOH2HORFEALEVTILEE L,

@ N}, BERISBHLURT - ARREMAMBEHF OREBEN T oTLEE

@ 58, %8, LAdb\, BRMIX BEOCKE -S#RIEEECRIBCRKELLNT
{EEV, N, BRBELEDSETNDHNET,

@ HEMNIERULAES I, FREBRUERVWTYSNRILERA (ON) LT,
KRDEENABNET,

@ BT HTRELEDEMSRET o TLELT VW REEOBINNHUET,

@ I3, OV UM, ML ERMIBBABICAS T VL ICHEI LTS L,
EMARPRETRSLURBIELEDB TN HIET,

@ SRS h TV EVABRTOBEETH AV T LSV,

O ML EEETIEER, EEREDELTRNR-TILEEY,

® 7T, HEDIL—DIRFADERERERERITHLEVTLEE Y,

@ KACERMOEREE, ERERDEHATHEHALTILEL,
ERSNOEAIE, FESHEORAEL ) & T,

O EEMULBFANORTDHZDDIE, BLEVEHERLTIEI VL,
XK, BEORAELVET,

O BEEMBUETBREFALTVETOT, ABICEBRIRELITERERELLE
OHEPECET, BEELOBUVEFRTOIRACREER T TILES L,
i, SEERAEEALAROES, EH S OSHERS (ZCT) KBTI L) B

LETOT, BRRBOBRERDELZ10kHZETT, BO3AMTCIERL LS,

| Safety Precautions|

Before installation, wiring, operation, maintenance and inspection of the
device, be sure to read the operating instructions carefully to ensure
proper operation. Care should be taken that the operating instructions will
be furnished to the maintenance supervisors of final users.

@ Safety precautions items are classified into “ Warning " and “ Caution ".
: Indicates a potentially hazardous situation, which,
AWARNlNG if not avoided, could result in death or serious injury.
: Indicates a potentially hazardous situation, which,
ACAUTlON if not avoided, may result in minor or moderate injury
and/or damage to the equipment.
Under certain conditions, improper operation may result in serious injury
and/or damage even if it is labeled only as “Caution”.

Every item indicated by either "Warning” or “Caution” should be considered
significant. Be sure to give particular care to those items.

/AWARNING

@ Turn off the upstream circuit breaker prior to installation, removal,
wiring, maintenance or inspection to prevent electric shocks and
burns due to short-circuit.

@ Do not touch two live lines at the same time. Earth leakage circuit
breaker does not operate even if an electric shock occurs.

/A\CAUTION

® Do not use one found damaged or deformed when unpacked.

@ |Installation, electric work, maintenance and inspection of the device
should be performed by qualified engineers having special knowledge.

® Do not install the device in a place of environment with high temperature,
humidity, dust, corrosive gases, excessive vibration/shock, etc. to
prevent fire accidents and malfunction of the device.

@ When the circuit breaker trips of itself, remove the cause and turn the
handle on. Or else, it may lead to fire accident.

@ Make sure that terminals are fully tightened periodically to prevent
malfunction.

@ Care should be taken to prevent entry of foreign objects such as dust,
concrete chips, iron powder, etc. or it may result in poor contacts,
defective release unless it is permitted.

@ Do not madify the device unless it is permitted.

® When the device is to be disposed of, it should be handled as an
industrial waste.

® Do not connect aluminum terminals and conductors to the breaker
directly.

@ Use the breaker in a range of the rated voltage and current shown on
the name plate. Or, the breaker may malfunction.

@® Make connection on line side and load side in acorrect manner.

Or, fire accident may or malfunction may occur.

@ Earth leakage circuit breaker does not operate normally whendew is
generated. Do not use and storage the earth leakagecircuit breaker
in the place where the temperature changeis extreme. Moreover,
since ZCT of a breaker may be overheatedin the case of the circuit
containing harmonics, use the breakerunder the conditions for the
distortion of the leakage currentis 10kHz or less and three ampere or less.

| R&EEER |

TEHTZEE, TR T  RIER 4P SHZ AT, BSDINEEM IR, ERER.
S IRBRR, ERAERRBPRLERAERAAT A

® EHERRPEAE, B2 TEBMNRAND N
: TE&S) A DR T ER.

NEL | THIROIE, BB REHOBILRS.

3 P RBEIROE, BUREEMPERENRE. BRI MR R ENR
ek

295, DFCHNER, KESKER, DAGEESETER
LT RN . BT —ANSHE+SBEN, BROTISETRIT.

AEE

© TR RE AN T RGN, AT AR, TS,
SRS RS

@ ESUAERMMEMRLIEBIL. T, BMER B, R sE.

AFE

® FHEN, BWIATRETHRRNER . MF, BEDEM.

@ . MRTIRRYP. FEEL, ZwiEETHHRNA T,

@ EREHUTREEERER, FIE, LR, BRESAE, SERRFNE
ZRERET. T, BRENRIIREFRT S

® EFMHET, EAEHERERBIRATMHON, T, BEESHAR.

© EEEIARE i FHIE BIRT, AR ILIREN (R,

@ EHIBTBRMKA. ARH HMERYISNINBRA, TUHRTESIE
BRMAR . BEARMRE.

@ ERBEF/IFAH, FAENYRETHE.

@ EFUF@RE, ERA R AL,

O ETREEERMBIRT, SEMESRT.

@ BEAKANCHRMBUERE, BUERMEENLITER.
0, F AT RE S R MERI R ERIFE-

@ o THEHI AR RIRIRMFN S B, B IER R L.
ENH BT BER £ A RANHEE

@ BT RAEMBKFERATRTHG, NRABPRELBINE, FAERE
THEHIEE. RSFERESLARIANERRRE.
Boh, W FREBRERR I HI R, KRk BN TRLME (ZCT) BRmF
T, BIEE AR B A EE 1 0kHZA T H B 7ESAN T AL 2R -




1. GEER

FI—H% BB IC SR P (BELICBMAROD
EDDFRAVEY . BB BEER CTHBEVEY,

1. Check

Upon unpacking the breaker,verify no damage in transport.
Pisase also confirm that the specifications of the parts
match those in Table 1.

1. @ik
TRAWRSENERE, BRESLEEHEPRIENLS.
B — B PaVEi ¢RI 1 Fiko

T —HOBRM TR, BRSNTOSBNIRUZER
LTI 2T IZE L,

3. &%

3.1 EREBFO TR

M) #HER - BEHLIU U -HICEELDNENT
WaWI AR IEE0,

(2) BROE#IE, NEC(National Electric Code:
KEBKIEHRE)F/IFCEC(Canadian
Electrical Code Part 1: h+4BR TEHEIC
ROTEHFEL TS

(3) BEHBRE, 75THEEIFEALISEN. 48, UL
REBRFCICSAREBRACHERIIE L,

@ EHER BRI PYEE SBIUTELDL
SICEMAHFTIZEb. (@)

G) HRNUPHEBLTHUEZTOT, BR. a&R
BBICEMT I T IZS W £10125-250AFD T 1
—hAEBBERNIIZBEE. 7U—hEICHERE
NIPEBRFFTIEZE W BRNUPHENZSE,
EBRFIPEEORLBRICEE T vV IPT—
EVOREICKURBERYTD, FIERFHN—
(BIFE&)FBAF T ICE0, (E1)

(6) WBEBRIFNETTE, SEBICEBICAELEHNH
PRELIIOT BEOIZR/ZMECL TS,

(7 MFRCEEIBHIB LD LTS 0,

(8) P=HOHREBOEASHBROTL IS0,

BEER TFEHAZX Wire size BERYT FHBROK
AWG or MCM {mm?) Numbser of strands
fzp 3::00 N , RENKE
Side-by-side installation
BMRE 14-2AWG (2.1-33.6mm?) 7
A 1-4/0AWG (42.4-107.2mm?) 19
tRHIS—ht -
) Accessory cover screw 250-500MCM (127-250mm?) 37
®1 Figl B (125-250AF) RO

(9) ZOTL—h—& WP AIN—NTOHULOFRER%R
&9,
EE#IE DITRUICKVEBEL TS,
WL SE0.5~0.6 N-m&L TIZEL,
WFh/—

Terminal Cover
wFE

LiE[S AV 4
Interphiase barrier

Scrow
. w/ ZRE
= =
TEA, AWAICEEL TS,

Fix the breaker using mounting screws.

3. Connecting

3.1 Precaution for connecting

(1) Confirm that no voltage is applied to the breaker, wire
and Bus.

(2) When connecting the wires,follow the instruction of
NEC (National Electric Code,USA) or CEC (Canadian
Electrical Code Part 1, Canada).

(3) For connecting, use the copper wire for 75°C.

Use the UL or CSA approved wires.

(4) Each connecting wire or crimp terminal,conductor
pole should be connected in pallarel as shown in the
Fig.1.

(5) Fit the attached interphase barriers between phases
on the line and the load side. When mounting
125-250AF breakers side by side, fit the interphase
barriers between breakers as shown in the Fig.1.

(6) Keep the connection of the wire tight sufficiently,
because the very large electromagnetic force will be
generated, when the short circuit current is applied.

(7) Perform the additional tightening of the terminal
screws periodicaly.

(8) Keep open the outlet of the arc gas.

:®1 4SS Table 1 Parts in a package = RE
g;:;(zr?ﬁgf BEMWS  Parts in the packing  IREDERH
y
WiggaRanR S 3t#%EBs Common part BMASME RURKTFHABS Only for screw terminal  WETHF SRS | TRRFHABE Only for flat terminal  LRRFIERALH
Wil M4x70 2K +FERAEARAL M8x16 67 AEAFIE MBx22 67
Mounting screw M4x70 2pcs. Cross recessed head screw  M8x16 6pcs. Hexagon head bolt M8x22 6pcs.
BB M4x70 2% T BT M8x16 6% AY:-Ligrs M8x22 6%
- TES M8 124
R/ 7 BWOBPCA 44 | g4 M8 6% Plain washer M8 12pcs.
BW125JAGU Interphase barrier  BWOBPCA  4pcs. | Plain washer M8 6pes. PRE M8 12#
BW12 TarEkER BWOBPCA 4# | i M8 6# FhEs M8 6
W125RAGU Spring washer M8 6pcs.
EW125JAGU BT HN— BWOBTCA 2@ EhES M8 641 SRR M8 68
EW125RAGU Terminal Cover BWOBTCA 2pcs. | Spring washer M8 #6pcs. Fyhk M8 6ff
3= BWOBTCA 24 B E M8 61 Nut M8 6pcs.
z [45) M8 61
fﬁ?” ‘Izmﬁ*él’ mgxg ;W %BW125JAGU-2P, BW125RAGU-2PId ZnZ h BT DT A&,
Rl Pt e N e PCS. | Note. Use 4pcs. of screws for BW125JAGU-2P, BW125RAGU-2P.
WIBRRMT  M3x12 4R = EEFR4 BN 25JAGU-2P, BWI25RAGU-2P,
mfttal M4x70 2% AR MBx16 67 RAFID M8x22 674
Mounting screw M4x70 2pcs. Hexagon socket head cap bolt M8x16 6pcs. Hexagon head bolt M8x22 6pcs.
DHERE] M4x70 2% INFEREE M8x16 6% NARR M8x22 65
= FEE M8 12#f
HEAYT BWOBPGA  4#f FTES M8 61 Plain washer M8 12pcs.
BW250EAGU Interphase barrier  BWO9BPGA  4pcs. | Plain washer M8 6pcs. FEHE M8 128
BW2500AGU | BiAIRGHR BWOBPGA 48 | pmm M8 61 EhEd M8 61
BW250RAGU Spring washer M8 6Bpcs.
EW250JAGU BFHIN— BWOBTGA 2@ | {hEd M8 64 EMEIRE M8 611
EW250RAGU Terminal Cover BWOBTGA 2pcs. | Spring washer M8 ©pcs. Fub M8 6f&
HI3E BWOBTGA 24 | i M8 6# Nut M8  6pcs.
453 M8 6%
WFH/-BARL M312 4K %BW250EAGU-2P, BW250JAGU-2P, BW250RAGU-2PHZh Z nafBF ST <AL,
Terminal Cover Screw M3x 12 4pGs. | Note, Use 4pes. of screws for BW250EAGU-2P, BW250JAGU-2P, BW250RAGU-2P.
HIEREET M3x12 4% i35 G5 F4 1 BH250EAGU-2P, BW250JAGU-2P, BW250RAGU-2Po
2. Bt 2. Mounting 2. &R

TIZES0V%E, BIRA —RIBBNRRE.

3. EE

3.1 EEaEEEM

(1) BIRABEIENTEEE DL SRS ETEEE Lo

(2) B IEIGHANEC (National Electric Code : ZEEBST
2HF) 2BCEC (Canadian Electrical Code Part 1 :
NERDSTIENE) Ei.

(3) EIEBLBBMTH T LIl BIERUIATBLIN
BCSAATE B Lo

(4) BIDEERL, EERFHS BITHITRTRR.
@

(6) B RHIHs 3 ABIERER, 1BIFRIR . AR MBERR.
LEAN, N2 2E125-250AF (0BT PR ESET, BTEUTRERS 2
BRERERPIR. WL EBEIRERN, BEERIR TN
SE5HNRRETBHAAREINRBERITRE,
HELRKIKRFTE (BRR) . @1)

(6) HIDEEBMIBIET, FEBLIASKEIFBAGBELT,
Wit ERE LN F Do

(7) BEHITEiR F &L

(8) BARBILIRMSAHE OEE.

+2 BIEOL)EE  Table 2 Number of strands connecting wires /2 &8R4

(9) This breaker acquires of UL approved only with
Terminal Cover. Be sure to fix Terminal Cover by
Screw after wiring work.

(Tightening torque : 0.5 to 0.6 N-m)

Riftda L

Set LINE Side and LOAD Side
BIEBRN. ARMNRE.

(9) ABTIBEE REWIR T BOVSE SWEVRIA.
BLBEDRIEARIEE.
BE{EMAD.6~0.6 N - meYEZERIE
4L /Removal/3FiE)
BLEIN TS LY,
WA EXILY XEERENAREISS XL DS (D)
FHNCTIRENTLESY, (@)
Loosen the screws.
Pull out the terminal covers (D) while knocking
@ down the click (@) in the direction of the arrow.
R TFIZ4T
ImRREHRBPELAERIE, (O)
REERBEIHRTE. @)

3.2 70vONFORE

D) WEZN\OEHRBRI. RCRIERTEBRT (X
DBRECFERIZEN,

(2) BEOIVBRBR2CHSTIIIE L B8, ZHED
BRI TEE A

3 7OvomFPICE Y1 XORG>12BEDERE
—RCERTEEEA,

@) BRI, #BEHLBNTLIIES

(5) BRIZ, RITRI MM MO TRONF TS,

3.3 AUHF OBS

D) MINOEHERE, RIUCTIBREI M ADLD%
CEALIEE L,

Q) BRREEERTEFHLADT RIJUCTTEBHF
ETHAIEED,

(3) HFALE. RICTRIHEN VO THRDONE T

=W,
4) BEFESKEZ, FUITRIT YA ADEDETAHBLICE
L\O

3.4 TRZHFORS

D EEHTI\OBIFBRE, KIICRIBRYAID
LDETERIIED,

Q) BREBEEFEFE TCEZLAOT RIUCTIEBRF
ZTERALIEE 0,

3) HEFEARL . RIJCTRIBA VO THOF/TTL
1ZEL

(@) EBRFE2BLEMTICHERIDHREE. YT
EORBEBITRID_ENBYEIOT, 7K
VO ETRBMEL TS,

£33 BRYIXERFILY
Table 3 Connectable wire size and tightening torque

®3 EESLORINEEHE

3.2 Lug terminal

(1) Use the connecting wire of the sizes listed in the Table 3.

(2) Follow the number of the strands of the wire indicated
in the Table 2. In addition, the multiconductor wire can
not be connected.

(3) To the Lug terminal two wires with which sizes differed
cannot be connected at the same time.

(4) Do not solder the end of the wire.

(5) Fasten the wire with the tightening torque indicated in
the Table 3.

3.3 Screw terminal

(1) Use the connecting wire of the sizes listed in the Table 3.

(2) Because wire cannot be connected directly to the
terminals, select crimp terminal shown in the Table 3.

(3) Fasten the connecting bolt with the tightening torque
indicated in the Table 3.

(4) Use the connecting bus bar of the sizes in the Table 4.

3.4 Flat terminal

(1) Use the connecting wire of the sizes listed in the Table 3.

(2) Because wire cannot be connected directly to the
terminals, select crimp terminal shown in the Table 3.

(3) Fasten the connecting bolt with the tightening torque
indicated in the Table 3.

(4) The case two crimp terminals are to be connected,
reinforce the insulating distance to the mounting
surface may be shorten, it needs to make insulate by
taping, etc.

3.2 RS

(1) ERHR F B LKIBERNRIFTIEER THB L.
(2) BEMILMIBIRRR2. LI FIUERS LK.
(3) BIRIET ERT U — i EER T T EN29 B L.

(4) BLBETERBHRET.

(6) BAIEWRIFITAREBAEITE.

3.3 B4TIRZEY

(1) IR F IR 4 B ERURIFTROBLER T o

(2) BATEEEEERE, BEMAUNRFTNERERT.
(3) B SHBAT BB RN EBREITE.

() EESRERDERIFATHRT.

3.4 PRIRFES

(1) EEF IR B, BEMURFTR IS L.

(2) BETNEEEEEE, FILEERNRSFIRNERRS .

(3) E RIS IBR RO EBNEITE.

(4) BEBRSEE 2D PR L6, BARHREIRE
BNBZERSTS, BRABRMHERIES.

EEEMEFEEMRIR  Applicable crimp terminals and tools  EEEERKINERETE 2 |17 Tightening torque REIHE
FU—HOMA BRI BHERIRY X [ T (UL File No.E42024 NICHIFU (UL File No.E44245) | DST (UL File No.E74917 . y ~
Breaker type |Rated | Wire size - ) : ) L . )_|BURT TRHT| JOuo%T
e =) Current EREER T EWimT [E#IR EERT E¥ETR [ ¥ F EMITR SCfew/ﬂIat Lug terminal
MEBR .1 | Terminal Tool Terminal Tool Terminal Tool pene o
5337 2 EETR E&RS FEITR E&ins EHETR (#0957 % BRiEd
N MINI2
14 AWG 3 YHT-2210,YA-1 . NH1,NH9 - 5N18,214A
158 1 (2mm?) e YA2YAT1A R NHB1 2- DH-1B,AC-5ND
YAT-2A,YAD-1A REC-14A
204 | 12 AWG2 YAD-2A,YA-4 R3.5-8 3.5-8 5N18,214A
(3.3mm?) 5.5-S8 YAT-4A,YAD-4A R5.5-8 | NH1.NHO 558 DH-18
20a | 10AWG R5.5-8 BCT-0514 B8 e AC-5NC
{5.3mm?) o : REC-14A
aon | BAWG YHT-8S.YA-4
( 8.4mm2) YA-5,YAT-4A
8 AWG YAD-4A,YPT-60-21 NH1.NH9
40A | (gamme) |B8NS YPT-150-1,BCT-0514 | R8-8 NOPEO 8.8 5N18,214A
T R8-8 BCT-860,8CT8150 NOMBO 3o
BWI125JAGU | S50A [ (gamne) iE‘T‘_'Fég'_\;ET'SO"
BY12gRAGU YA-4.YA5YAT-4A oranoreo | 50 Ib-in. 50 Ib.-in.
EW125JAGU ) YAD-4A,YPT-60-21 NH9.NOPGO e (5.8N'm) (5.8N-m)
14-8NS 9H-150
EWI25RAGU | ., | 6AWG 14-S8 YPT-150-1,BCT-0514 | R14-85 [ NOM60 14-58 REC-14A
(13.3mm2) | R148 BCT860,BCT8150 R14-8 NOP150H 14-8 REC-60F
YF-1,E-4,YET-60-1 NOM150 REC-150
YET-150-1
4 AWG
70A
{21.1mm?) _ R22-8S 22-88
758 | SAWG . | Roos YA-5,YPT-60-21 R22-8 22.8
(21.Imm) 1 8oo.sg | YPT-150-1 CB22-8S CB22-8
80A | AAWG BCT-860 NOP60,NOM60 grea
(21.1mm=) BCT-8150 NOP1SbH 9H-150
90A 3 AWG YF-1,E-4 NOM150 REC-60F
(26.7mm?) YET-60-1 REC-150
100A | PA8 ., |ssss | YET150- R38-85 38-88
1 AWG
125A | (42 .amm?)
YA.YPT-60-21 9H-60
1 AWG 38-58 YPT.150-1 BCT-860 | B388S | \opso,NOMED 9H-150
1258 | (s2.4mm?) | R388 BCT-8150,YF-1,E-4 R38-8 NOP150H 38-58 REC-60F
YET-60-1.YET-150-1 N REC-150
YA-5,YPT-60-21 NOE300 9H-60
o AWG YPT-150-1,BCT-860 Bt N 608 9H-150
60-S8 BCT-8150,YF-1 - 12K-1
BW250EAGU | 150A | (53 5mm?) | RE0-8 E-4,YET-60-1 CBE0-8 | NOM3000 60-8 Number12A
BW250JAGU YET-150-1 CB60-8S | NOH300K REC-60F , .
BW250RAGU YET-300-1,YET-300N REC-150 aSOlgﬁn- ) (22030Nlb--;n~
2/0 AWG NOP150H 5N-m ‘m
Ewgggg&%% V75A | C67.4mme) | 70-8 NOM150,NOF300 oH-150
E YPT-160-1 R70-8  [NOM2500A 70-8 REC-150
200A 3/0 AWG CB80-S8 BCT-8150 NOM3000
( 85.0mm?) YF-1,E-4 NOH300K
YET-150-1 n 9H-150
2250 | (a2, | CB100-S8 | vET300-+ ceso8 |
YET-300N CB100-8
250kemil = Number12A
250A ( >7mm?2 ) CB150-S8 CB150-8 REC-150
FE 1 ERBRIVSCEREER Notes : *1 167°F (75°C) Copper wire o *1 EBeAERTCHaS

2 ERETHESM JST=AXERRTHEHASH
NICHIFU=# St =77
DST=KRERTWEHREH

*2 Crimp terminal manufacturer :
JST= Japan Solderless Terminal MFG Co.,Ltd.
NICHIFU=Nichifu Terminal Co.,Ltd.
DST=Daido Solderless Terminal MFG Co. Ltd.

*2 EREHFEEAD  JST-DFEER T HiSHNEt
NICHIFU=NICHIFUKkTt &1t
DST=K@IR 3 FlE#HN St



